
[S’ -> .S EOF, EOF]
[S -> .AaAb, EOF]
[S -> .BbBa, EOF]
[A -> .bA, a]
[A -> .d, a]
[B -> .d, b]

[S’ -> S.EOF, EOF]

[S’ -> S EOF., EOF]

S

EOF

[S -> A.aAb, EOF]
[A -> b.A, a]
[A -> .BA, a]
[A -> .d, a]

A

b

[S -> Aa.Ab, EOF]
[A -> .bA, b]
[A -> .d, b]

a

[A -> d., b]

d

[A -> b.A, b]
[A -> .bA, b]
[A -> .d, b]

d

b b

[A -> bA., b]

A

[S -> AaA.b, EOF]

[S -> AaAb., EOF]

A

b

[A -> d., a]

d

[A -> bA., a]

A

[A -> d., a]
[B -> d., b]

d

[S -> B.bBa, EOF]

[S -> Bb.Ba, EOF]
[B -> .d, a]

B

b

[B -> d., a]

[S -> BbB.a, EOF]

[S -> BbBa., EOF]

d

B

a
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The LR(1) automaton


